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6.1 O00O0DO0OO0DOOODOO [(2.13000]
0(2127) 000 (2.130) 000000000
(Jo + iJy)" Elexp(iJ¢) exp(iJx)(1 + cos §)”]

(2.)!

R EY ST

exp(iJ o) exp(iK x)(1 + cos 0) (1 — o8 9)

gobbobouooobbobooogbo

(J, +iJ,) [exp(z}]gb) exp(iNx)(1 4 cos 0) (1 — cos 9)
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= —(J + N)exp(iJo)expli(N — 1)x](1 + cos 0) (1 — cos6)

J— N+1

(6.1)

(6.2)

00000D0000000000(L,+4J,) 00000000 [0]00000 NOODO
Oo0oo0 —(J+N)OOODOOOOoooooo(e.1) oo exp(ngb)exp(sz)(1+COSQ)
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5 (1 —cosf)
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 sinf
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6.2 0000000OO0O0OOODOODOO [(2.13100]
Franx (0,6, X) = exp(iM¢) exp(iK x)(J, K| exp(if jy)|J, M) (6.6)
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V== (+> (1+ cos0)” exp(iJo) exp(iy) “~25° ( - ) (6.12)

7 27\ 8n? 8?2
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— exp(Fix)
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00
1

cos

sin 6

0
— exp

(iM¢) exp(iK x){J, K| exp(if jy )| J, M)

19
sinf i 0¢

10

1 0x

exp(iM¢) exp(iK x)(J, K|exp(if jy)|J, M)

exp(tM o) exp(iK x)(J, K| exp(if jy) |J, M)

0 N
= exp(iM¢)expli(K F 1)x] j:%(J, K|exp(i0 gy )|J, M)

M

——(J, K| exp(i&jy)u, M) +

sin 6

K cos b
sin 6

(J, K| exp(if jy)|J, M)

gobboboooobbobodgo

iaan’K' exp(i6 jy )|J, M) = +(J, K|§8 exp(i6 jy )| J, M)

= i2<']7 K|§Y eXp<20 jY)’Ja M>

M

———(J, K| exp(if jy)|J, M)

sin 6

1

sin @

1

- = Z<J7K|eXp(ler)L]?M/><J7M/’3Z|J7M>

sin 6 IV

1 AP
= — (J, K| exp(i6 jy)jz|J, M)

sin @
1

= ——(J,K|(cos0j — sin0jx) exp(if jy )|.J, M)

sin 6
K cos6
sin 6

cos

sin @

cos 6

(J, K| exp(if jy)|J, M)

= (J,K|jz|J, K){J, K| exp(if jy)|J, M)

= > Kljz| T, K" (J, K| exp(if jy)|J, M)

sin 6 I

cos

sin 6

gooboood

(Jo +0J,) frarx = exp(iMo) expli( K T 1)x|(J, K|(jx + ijy) exp(if jy)|J, M)

= (J, K|jz exp(if jy)|J, M)
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= exp(iM¢) exp[i(K F 1)x]
X S K G = ) KK exp(it ) J, M)

= exp(iM¢) exp[i(K F 1)x]

X (J, K|(jx £ ijy)|J, K £ 1)(J, K F 1] exp(if jy )| J, M)
= exp(iM¢) exp[i(K F 1)x]

x\[J(J +1) = K(K F1)(J, K F 1] exp(if jy)| J, M)

= I+ 1) = K(K F1) frarpce (6.19)
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0000000000000000000000000
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d d ok N k15 e
@GXP(ZQJY) @ EQ Jy = ngﬂ —k;?@ Jy"
= ijy exp(ifjy) = i exp(ibjy )jy (6.20)
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exp(i67y )z exp(—zﬁjy)
14105y + — (zﬁjy) iz |1 — i)y + = (ZQJY) e
=:§z*+f9ﬁ5y,5z]+*§@92ﬁjy,ﬁfy;5zﬂ 3,9 (i [idv, ligv, g2 + -+ (6.21)
ogood
[ijy,jz] = —ix (6.22)
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000000 exp(ifjy) DO0DDO0O
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000000 (6.25) 00000 exp(—ifjy) 0000000 §000000000
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goooon
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. 1 . 1
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000008 0 1/4000000000000000
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1\ 1 1 6
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gooogg
U
J=100
O
U J=1DDDDDDDjyDDDDDDDDDDDDDDDDDD
A 1 0 0
ly = N lcos (b% — cot @ sin ¢a¢1 (6.39)
DDDDDDDD(2.131)DD
3 1/2 R
quK:(&ﬁ) exp(iMa) exp(iKy)(1, K| exp(i0 Iy )|1, M) (6.40)

000000001, M)00 |1,K) 00000000 Yi4(0,¢)0Y10(0,¢)0Y; _1(6, ¢) OO
00000000000 (1, M|ly1,M)00000000000 (1,1)iy[1,0) = —i/v/20
(1,0]ly |1, —1) = —i/+/20 (1,0|ly|1,1) = i/v/20 (1, -1]iy|1,0) = i/y/2 00000000
J=1000004,000000000000000

0 1 0
PO
zly:ﬁ -1 0 1 (6.41)
0 -1 0
0o0oo
2
0 1 0 -1 0 1
. 1 1
(iy)P=5] -1 0 1| =50 =2 0 (6.42)
0 -1 0 1 0 -1
3
0 1 0 0 -1 0
GvP=—"| -1 0 1| =2|10 -1 (6.43)
2V/2 V2
0 -1 0 0 1 0
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(ily)® = —ily
0000000000000000
62 03 - o . 65 65 .

(6.44)

exp(ifly) = 1 + 0(ily) + *,(il}y + 7(@ZY)3 + E(’LZY)4 + 7(@'[1/)5 + j(lly)G SR

2 3! 5 6!

5 6 - 63 . 6* -
:1+mmd+jﬁwf—§ﬂi — —(i

A 63 @5 P 62 g4 g6
:1+(Zly)<9—3!+5!—"'>+(Zly) (2!_4!—1_6!_“)
=1+ (ily)sin @ + (ily)*(1 — cos 0)

1 1 1
5(1 + cos ) \/;sinﬁ 5(1 — cosf)

1 1
= —\/;sine cosf \/;sine

1 1 1
5(1—0056) — Esine 5(1—}—0059)

3 1/2
\1117070 = <87r2) COS 0

3\2 1
Vit10=F (87r2> exp(iigb)ﬁ sin 6

3 \12 Loy
Wipar =+ (- +ix)— si
1,0,£1 (87r2 > exp(z£iy) 7 sin

Uyg11 = (87r2> exp(xi¢) exp(zx)§(1 + cos )

Uy 1= (W) exp(+io) exp(—zx)§(1 F cosf)

gobooog
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64 00000000000 [(2.139)0(2.14000]
ZDM/ (6,0, %) Dign 11 (9,6, X)"
= ZeXP —iM'}) dypr 4 (0) exp(—iM x) exp(iM" ) diyu 5 (0)* exp(iM x)
= exp(—iM'¢) exp(iM" ¢ Zd", (0) dipu 1 (0)*

= exp(—iM'p) exp(iM" )
x S (J, M| exp(if jy )| J, M){J, M"| exp(if jy )| J, M)*
M

= exp(—iM'¢p) exp(iM"¢)
X (M| exp(i6 jy)|J, M)(J, M| exp(—if jy)|J, M")
M

= exp(—iM'®) exp(iM" §){(J, M'|J, M") = Snpr par (6.51)
O0000(R2139) 00000000 R.u40000000000

65 000000O000O0D0000O0 [(2.14300]

foag = (DM 50, gk (6.52)
godooooooooooooooooooon

Jzfiax = —Mfraux (6.53)
jsz,M,K = _KfJ,M,K (654)
(Jx Fidy) fann = =TT +1) = M(M £1) frae i (6.55)
(Jo £ id)) frari = —/J(J +1) = K(K £1) frarxs (6.56)

D00000000000000JxOJ,000000000000000000000
goooo

jZf;,M,K = ij,M,K (6.57)

T Fimn =Kk (6.58)

(jX + in)fj,M,K = \/J<J +1) = M(M +1) f:;,M:I:l,K (6.59)

(e F i) fanae = VI 1) = KK £1) 501001 (6.60)
ooooooo

afimx =Yomk (6.61)
0000« MOKOODOOODDOODOODODOOO

\IJ(*],M,K = CL* fJ7M7K == CL* (—1)M_K\I/J7_M7_K (662)

f=¢0o=x=00M=KOUOOOOe=10000O0OODOODOO
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6.6 000000000 OOO Legendre OO0 [(2.1630
0]

0(2130)00 M=K=0000000

2J 4+ N2 (=1 . . :
W00 = ( 5 ) 57 1 (Jx —iJy)? (sin @)’ exp(iJ ) (6.63)
goooooooo
J
N Y, - VT 2T
(Jx —iJy)” exp(iJ@)(sin6) (dcos@) (sinf) (6.64)

O00O0Od((1e30000000D00O0O0000OODOOOO0OOJ>N>10000
b NOODboooboobooooboooo

(Jx —iJy) [exp(iNqb)(sin@)_N( d > ) (sin@)”]

dcosf

g\
_ N \—N+1 Y
= exp[i(N — 1)¢] (sin 6) (dcos&) (sinf) (6.65)
DDDDDDDDDDDDD(jX—ijy)DDDDDDDDDDDD NODODDOOoood
00000000 N=JOO000D000 (6640000000 exp(iJe)(sing)’ OO
DDDDDDDDDDD(6.64)DDDDD(jX—ijy)D JOO0Oooooono Joooo
NOOD 0OODOO0OO0OD0OD0OO0O0OO0O0O00D (664)0000000O0ODODOO
DDDD(6.65)DDDDDDDDjX—iijDDDDDDDDD

. . 9, 1 0 0

Jx —idy = exp(—i¢) |- = + — [ 2 — cosf-= 6.66

x =iy = exp( “b)[ 89+isin9<8x cos a¢>1 (6.66)
goboduobodd ybobooboouyboobbooboooboonoobooa

~

(Jx —iJy) [exp(iNqﬁ)(sinH)N ((1;(;9> 7 (sin@)yl

9 010 d \""
= —exp(—i¢p) (30 + (53?1?9 1%) [exp(iNqb)(sin o)~ <d0089> (sin 6’)2‘]]

= —expli(N — 1)9¢] cZ? [(sinG)N (dcﬁsﬁ) : (Sin9)2‘]]

g\
—N exp[i(N — 1)¢] (sin@) V! cos <d0089> (sin §)%/

= —expli(N — 1)) (sin@)_Nje <dcis€> _ (sin 0)?7

— expli(N — 1)¢] (sin) V1 —2 < i )J_N(sinﬁ)”

—sinfdf \ dcosf
d J-N+1
= exp[i(N — 1)¢] (sin @) N <dcose> (sin 0)*/ (6.67)
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6.7 D000D0O0O0OOODOOODOODOOO0O [(2.16800]

0 (2167) 00 K=00O0OOODOO

20T +1(J — MDY . .
U0 = [ oz EJ*+;AIB‘] (Jx +iJy)™ Pj(cos ) (6.68)
0oooooooO
(Jx £ idy)MIPs(cos§) = (1) PM(cos 0) exp(iM o) (6.69)

Oo000dO0@1e800000ooOoo0oooooo0ooooo N>0000000
NOODODoOOooooobooobooobo

(Jx £ iJy)

exp(diN¢)(sin ) <dcis€> Pj(cos 9)}
d

N+1
dCOS@) PJ(COS 0) (670)

= Fexp|+i(N + 1)) (sin&)NH(
0000000000000 (Jx+4Jy) 000000000000 NOOOOODOOO
0 000000000000000 N=000O0OO0O0O00O0 Pylecosf) DO0OODO0O
D000000(6.69) 00000 (Jx+dJy)D [M|O0O0000DO000 00000 NO
00 |M|ODO000O0000 (s ODOO0OO0O0O0000

d
dcos0

|M]
(Jx £iJy)MIPy(cos ) = (F1)M exp(£i|M|¢)(sin 6)M] ( ) P;(cos 0)

M+|M|

= (=1)" 2z PM(cos ) exp(iM¢) (6.71)
O(670) 0000000

(Jx £ iJy)

exp(£iN¢)(sin )" <d Ci)ls 9) P;(cos 9)}

:iexp(iiqb)(a cosf 1 8)

o0 + sin 0 ;0725

exp(iN¢)(sin )Y (dcis@) Pj(cos 0)}

= t+exp[£i(N + 1)¢] j@ [(sin 0)N (dcis@) Pj(cos 9)]

FN exp[+i(N + 1)¢)] (sin )V ' cos @ ( ) Pj(cosb)

dcosf

N
= t+exp|+i(N + 1)) (sinG)Nje (dcis@) Pj(cos®)

d d \"
_ , N+
= Fexp|Ei(N + 1)¢] (sin ) —n0d0 <d0089> Pj(cos @)
d

N+1
d(}os@) PJ(COS 9) (672)

= Fexp[£i(N + 1)¢] (sin )V (
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6.8 0 0O0Clebsch-Gordan D0 0000000 [(3.310
0]

0@B300000000000j=m=005k=/i40m=-m;+1 00000000
gooo

0= \/j1(j1 +1) —my(my — 1){j1,my — 1,51, —my + 1|0, 0)

+\/j1(j1 +1) —my(my — 1)(j1,m1, j1, —m4|0,0) (6.73)

O0000Om, 01000000 (51,my,71,—m|0,0) 00000000000 0O0O0O0O
goboboogoboodd

‘a7070> = <j17.j17j17 —j1|0,O>[|Oél,j1,j1>|061,j1, _.]1>
—lou, ji, 1 — Dlaa, g1, —jr + 1) + |, jrs i — 2)|ea, Ji, =51 + 2)
— A (D) ay, g1, =g |aa, g )] (6.74)

(v, 41,51, —7[0,0) 000 0000000000000000 2,4+4100000000
00000000 (274, +1)"Y20000000

6.9 0 00Clebsch-Gordan 000000000 [(3.330
O]

Um, =5 0000bbbobobibiodoooouogagssspbobnooooog
m=j0my=7—m+1 000000000000

0= \/jl(jl +1) = mi(my — 1) (g1, m1 — 1, ja, j — my + 115, 7)

/202 + 1) = (G = ma + 1)(G —ma) i, ma, o j — malj 5) (6.75)

00000m 010000000 (iy,my,jj—mljj) 0000000000000
oooo

(J1,m1 — 1, jo, j —ma + 1|4, 7)

_ [jz(jz +1) = (G —mi+1)(j —m)

1/2
. . .7m7'7'_m ~7. 6.76
10+ 1) = mama — 1) ] Gromgoj = mli,g) - (6.76)

m; O0m+10000000000DO0000000O00O00000

<j17m1)j27j —m1|j,j>

_ [(j2+j—m1)(j2—j+m1+1

1/2
(]1+m1+1)(j1—m1) )] <.]17m1+17j27.]_m1_]—|j,]> (677)
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gobbobuogooboo

Ji—ma

(41, m1,72, 5 —malj,7) = (—1)

. . Ny . . 1/2
J1+ g2 = M2 + 7 — m)! (g +ma)! o
( Al il ) (1, J1s J2s J — G113, 7)

(=1 + J2 + 3)N251)! (2 — J + ma)! (1 — ma)!

(6.78)

(1, 1,427 — il 7)) 0000000000000000000000 Clebsch-Gordan O
000000000000000000000000

Z |<j1,m1,j2,j - m1|j,j>|2 =1 (6-79)
mi
oogd
A . -2 (]1 +j2—j)!(j2 +j—m1)!(j1+m1)!
J1,J1,72,0 — J11),J = B : ; ; ; ; ;
it dend = ) = 2 S 60— 7+ m)iGGs — )]

(J1+Jg2+7+ D — g2 + )

— 6.80
(@))1(2j + 1) (6.80)
godo
. . /2
o (25)!(25 + 1)! '
) ) yJ T ) = . A A N A N 681
god
(j1,m1, jo, 7 — ma|j, j) = (1) ™
(2 + DG + g2 =)' G + m)!(Ga + 5 — ma)! i
(1 +Ja+ 5+ DW= J2 + )(=dr + J2 + )1 — ma)! (G2 — 5 + ma)!
(6.82)
godo
U
geS0U D OUOUODOOUOODOOOUODOOODOOODO
Z(a—f—a)!(b—a)! _(a+b+1)l(a—c)(b—d) (6.83)
~(c+o)l(d—0o)! (c+d)la+b—c—d+1)! ‘
o000tz <1lODO
1
—— =14zttt (6.84)

1—=x
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1 n

(1 ) =(4+az+2®>+2°+--)" (6.85)
— X

D00000000 2 00000000000000000000000000000 M

D0000000000 «» 0000000000000 «=000...000000000

D0000000 ghtket+ 00000000000 2" 0000 Oki+ke+-- -4k, =7

000000 (k,ke,...,k,) 0000000000000 DO000OODODOO

R D I = 030

11—z - n—1
O0(l—-2z)™0 (1—-2)™™ 000000000000 22000000 —-2)™ 000
0000000 2"0000 (1—-2)™™ 0000000000 2000000 r0O0

00000000000000000000000 (1—-2)"™ 0000000000
000000000

r+n—D'p—r+m-10" (p+n+m-—1)!

Zjﬁﬂn—nlw—rwm—1ﬁ:(@mn+m_1ﬂ (6.87)
ooon
(r+n—1lp—r+m-—1)! B (p+n—+m—Dln—1(m—1)!
2 (r)!(p—r)! - ®)(n+m—1)! (6.88)

r=c+oln=a—c+10m=b0+c—p+10p=c+d00000O0OOO0O

3 (a+o)l(b—0)!  (a+b+1)(a—c)(b—d)
(c+o)l(d—0o)  (c+d)la+b—c—d+1)!

T

(6.89)

6.10 O 0O0OClebsch-Gordan 000000000 [(3.340
O]
Om=;0000000000000000
|, 5,3) = colen, gu, gi)lea, o, § — 1) + aleas i g — D, ja, j — j1 + 1)
+eslan, iy gt — 2)|as, and — 1 +2) + .. (6.90)

00000000000000000 00000000000000000¢ 00000
O (1, j1,d2, j—j1lj,7) 000 00003.3800000000000m = /10ms = m—j;—1
00O00o0O00oO0ood

\/](j + 1) - m(m - 1)<j17j17j27m _jl - 1|j7m - 1>

= Va2 +1) = (m — ji = 1)(m = j1){jr, i, o m = il m) (6.91)

00000mO00000 (i, j,jesm—ji|j,m) 00000000000000000
000000000

(91, J1, Josm — j1 — 1]j,m — 1)
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:[hUr+D—On—ﬁ—1mn—ﬁ)

1/2
o 6.92
G0 —mm=1) ] (s dvs g2, m = jilj, m) (6.92)

mUm+10000000000000000000000

<j1,j1,j2,m—j1\j,m>

. . . . 1/2
(—Jitde+m+ 1)1+ —m) o . _
oo0oooooooodon

<j1aj17j27m_j1|jam>

(=g 2+ m)(Gn 4 Jo = @G —m)t] I

(27 + D) (s + Jo + )G+ o = m)!(G + m)! r”
L+ 2+ 5+ DI+ d2 — DN — J2 + )N =J1 + 2 + m)I(j — m)!

(6.94)

gobboodgesibbuooooooog

6.11 0O 0O0Clebsch-Gordan 000000 [(3.3500]
(o, 7', m|ev, j,my = 8 10 (6.95)
00

(oz,j’,m']a,j, m) = ZZZZ(jl)m/17j27ml2’j/>m/><j17m17j27m2‘j7m>

! I m m
my my 1 2

X <a17j17 m,1|oz1,j1, m1><062,j27 m'2|oz2,j2, m2>

om1 m2

= Z Z Z Z(jl? m/17j27 m/2|j/7 m,> <j1’ m17j2a m2|j> 771)57711,771’1(Smg,m’2
mjy my

= Z Z<j17 ml?j?a m?’jlv m/> <j17 m17j27 m?‘ja m> (696)

mi1 ma2
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6.12 0000000000 ODOO0O [(3.3700]

0 (323000 (jr,m},jo,mblj,m) 0000 jO0 mOOOOOOOOO

Zz<j1’m/17j2’m/2|j7 m>|a,j, m> - ZZ(jlamllvj%m,Qlju m>
j m j m

X Z Z<j17 m17j27 m2|j7 m>|oz1,j1, m1>|a27j27 m2>

m1 ma

- ZZ ’a17j17m1>’&2’j2’m2>

mi m2

X Zz<j17m/17j27m/2|j7 m><j17m17j27m2’j7 m>
j m

=3 o, g1, ma) o, Ga, M2) Oy st Oy

mi1 ma2

= ‘Oélvjlam/1>|0527j2am/2> (697)

6.13 000 Clebsch-Gordan OO OOO0O [(3.380 0]

0 (323000000 jy =i+ 000DO0ODO

j:|:|a7j7m> = ZZ(jlvmlaj27m2|ja m>j1:|:|a1aj17m1>|a27j27m2>

mi ma

+ Z Z<j1> my, ja, Malj, m) |y, ji, m1)jat|a, j2, ma) (6.98)

mi1 m2

oo

Vil + 1) = m(m £ D), j,m £ 1)

=" 3" (1, ma, ja, malj, m)

mi1 ma2

/i1 + 1) — mu(my £ 1), ji,my % 1)]ag, ja, me)

+ 0 (g1, ma, ga, malj, m)

mi1 m2

x|a, ji, m1>\/j2(j2 +1) —ma(ma £ 1)|az, j2, ma £ 1) (6.99)

ggooobodg

\/j(j +1)—m(m=£1) ZZ(jlvmlaj27m2|jam + 1)|ay, j1, ma) |, j2, ma)

mi1 m2
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= Zz<jlam17j2am2’j7 m>

mi1 ma2

X\/jl(jl + 1) —mu(my &+ )|, ji, ma £ 1)|ag, ja, mo)

+Zz<jl7m17j27m2|j7 m>

mi ma

xy\/a (G + 1) — ma(ms £ 1)|ar, j1,ma)|as, ja, mo £ 1) (6.100)

oo \al,jl,m1>‘a2,j2,m2> Oo00oooooooon

\/j(j + 1) — m(m £ 1){j1, mq, j2, ma|j, m + 1)

= (j1,m1 F 1, j2, maj, m)\/jl(jl +1) —mi(m F1)

(1, jo,ma F 11j.m)y/ja(ja + 1) — ma(mg F 1) (6.101)

6.14 0003y 0000000000 0O0O0O0O0O0O0OOO0O

D \al,jl,mﬁ D ’Oég,jg,mg> |:| D D D D D D D D D |:| |a12,j12,m12) D |:| |:| |:|

iz, J12, maz) = DY (1, ma, Ja2, majra, maz)|ea, j1, ma)|ag, ja, mo) (6.102)

mi1 m2

000 |oug, jia,miz) O |as, js,ms) 00000000000 |a,j,m) 0000

|aaja m> = Z Z(jl?) m127j3a m3|j7 m>|a127j12a m12>|a37j37 m3> (6103)

mi2 m3

J=m=00000000000

|C¥, 07 0> - Z Z<j127 m127j37 m3|07 0>|a127j127 m12>\053,j3, m3>

mi2 m3

= (js, —ms, j3, m3|0, 0)| a2, js, —ms) |, js, ms)

m3

= (js, —ms, js, ms|0,0)
m3

X 3> (1, ma, Jo, maljs, —ms)|an, i, ma)|as, ja, ma) |, s, ms)

my1 ma2

= S SN (A (2 4 1)V (1), Y [

X|o, g1, ma)|og, j2, ma)|as, js, ms)

112



:(_1)j1—j2+jgzzz J1 J2 U3

mi1 m2 m3 my Mg M3

X|O{1,j1,m1>|a2,j2,m2>|a3,j3,m3> (6]‘04)
0odd 3y 00oooonouooonooonooood
‘a17j17m1>‘0527j27m2>‘0537j37m3> poooo

i J2 U3 . . .
|a17]17m1>|a27]27m2>|a37.]37m3> (6]‘05)

2.2,

m1 m2 m3 mi; My M3

0000000000 (j=m=0)000000000000O0O0OOO0OO

J2 g1 J3

ZZZ ’a27j27m?)’alajlaml>|a37j37m3> (6106)
mi mz m3 me M1 M3
U
JiJs J2 , . .
ZZZ |an, g1, ma) |, Jz, mis) |, ja2, ma) (6.107)

mLm2 ms o\ My M3 M2

guooobbobbbboooooooouooobbbbuouooooad
|t j1,m1) |, o, ma)|as, js,ms) 00 0000000000000 ODOOODOOOOOO
goooobobobobedd 0 mUmOms D000 0DDDOOOOO0O
JiJ2 Js _. Je g1 J3 _y JioJs o J2 (6.108)
my Mo Mg mo MMy Mg my M3z Mo

O0000000000000O0ODOOO0O00OooO (6.105)0(6.106)0(6.1070 00000
gbbogobobobbooobbtdetd nb 41000 -10000DO0OODOOO
bdbUOed00n0 +1000 1000000000000 00000m;0me0ms
gbbooobobooobbooobboobbddm =nme=—j51—mzs 0000
gooo

N J2 J3 — J1 o J3 J2 (6.109)
Ji —J1i—m3 m3 Ji mz —j1—m3
000 3-5 000 Clebsch-Gordan 0 OO0 O0OO0OO0OOOOOO
(_1)j1_j2_m3(2j3 + 1>_1/2<j17j17j2) —J1— m3|j37 —m3)

= (= 1) B2 + 1) T2 (1, i, G, mslja, 1 + ) (6.110)
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000 Clebsch-Gordan OO0 OO OO0OO0OOO0ODOOO0O
n= (_1)j1—j2—m3(_1)j1—j3+j1+m3 — (_1)3j1—j2—j3 — (_1)j1+j2+j3 (6.111)

O00mg=—js0me=js—m 00000000

I | J2 ]'3‘ - J2 J1 ‘7'3‘ (6.112)
my Js—Mm1 —J3 Jg—Mm1 M1 —J3
000 35000 Clebsch-Gordan OO0 000000 OO0DOOO
(1) 79259824 4+ 1) 72 (j1, ma, ja, ja — malja, Ja)
= e(=1)2 (245 + 1) (g, js — ma, jr, s, Js) (6.113)

000 Clebsch-Gordan 000000 (—1)»"™ 00000000 Clebsch-Gordan O O
0000 (=127t goooooon

€ = (_1)j1—j2+j3(_1)j1—m1(_1)j2—j1+j3(_1)j2—j3+m1 — (_1)j1+j2+j3 (6.114)

gobbooboe1o80ggnoon

J1 J2 J3 _ (_1)j1+j2+j3 Je 1 J3
mi MMz M3 Mo M1 Mg
— (_1)j1+j2+j3 J J3 J2 (6.115)

my M3 Mg

000000000000000000000000000000000000000
000000000000000000 (=14t 00000514443 00000
0000000000000 00000000000000000000000000
00000000000000000000000000 (-1t 0oo000oon
000MO00000000000000

O

00o0ooooo (-1)°(-1)¥(-1)*---0000000000000000000000
0000003 00000000000000000000000000000000
000000000000000000000000000000000000000
00 (=1)*(-1)¥(-1)*--- 0000000 (-1)*v= 000000000000000
000 y00000000000(=1)"0 (=10 (=)0 (-1)¥ 000000
0000000000000000000000000000000000000000
0Doooooo

0
0000000000000000000000000000000000000000
00000000000000000000000000000000
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gobbobogoobboobuoooobo

gobboobooogn

gbobbuoodobbbdg g jgbbuoodubbbuooubbt nO00bbooOdg+m
ot j—mOo00ooon

- bbooooboobooogoobobooooboooobbooubbooubbn
U nbpeUpddbibiogbbigubbooobobooobooobobonoon

it 72+ 3000+ 92 — 330 1 — Jo + 530 j1 — Jo — Jsd —g1 + J2 + jsd —j1 + 2 — j30

gbbodboooboobobuogobboobbboobboobboobboboonbb
gobbbuoooobbbooooboobbooogbboboooobobbooon

6.15 U003y 0000000 mUOO00O0OOOOODOOO
oo

00000 |w,j1,m)00000000000O0OO

Jzlaa, ju,ma) = maaa, ji,ma) (6.116)

Jelan, jromi) = G+ 1) = m(ma £ 1)an, ji,my £ 1) (6.117)
gooooooooono

B = =i (6.115)

ik = J= (6.119)

gobbbuooobobbboooobboboooobbboooobobobooon

Jylon, ji,m) = —malaa, ji1, ma) (6.120)

Jelon, jrma) =\ (r + 1) — ma(my F 1], jr, ma F 1) (6.121)
000

|, j1,ma)" = |, g1, —ma) (6.122)
oooo

Jylon, ji, —my) = —malay, ji, —ma)’ (6.123)

Felar, i, =m1)’ = \[j1 (1 + 1) = ma(ma F D, jr, —mi £ 1)’ (6.124)
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m; 0 —m, 00O O0O0000O000

Jglan, i, ma) = malen, ji,ma)’ (6.125)

Felar, jima) = 1G4+ 1) = ma(my + Dlas, jr, m + 1) (6.126)
000 |a,ji,m) 00000 44 000000000000000000 5,05,000
00 |ag, jo, ms)'0 |ag, j3,ms) 00000000

JioJ2 U3 . : :
ZZZ ’a17]17m1>/‘0427j2am2>/|a3aj37m3>/ (6127)

mim2 m3 o\ My Mg M3

00o00oopooooOdd0 (j=m=0)000000000000DO0OOOOOO
O000'00000000D0OD0O0O0O00000O0oODoOoOoOOoOoOooO

JiJ2 3 . . :
ZZZ |y, g1, ) |an, J2, ma) | as, jz, ms3)
mLm2 ms \ My My Mg

i J2 s . . :
:CZZZ |a1,j1,m1>|a2,j2,m2>|a3,j3,m3> (6128)
mLm2 ms \ My My Mg
000 ¢0 +1 000 —1000M06.128000000
jl jZ j3

YN |, 1, ma) [, Ja, ma)’|as, g3, ma3)’

mLm2 ms \ My My M3

1 J2 3 . . .
:ZZZ |1, 1, —ma) |, Ja, —ma)|as, js, —ms)
mLm2 ms \ My My M3

J1 J2 J3 . . .
:ZZZ ’061,]1,7774)’062,]2,m2>’&3,j3,m3>

mi mz m3 —mip —Mmy —Mg
(6.129)
gogodg
Wil J2 J3 —¢ Jur J2  J3 (6.130)
—my; —Mo —M3 my Mo Mg
my = plmg = —jslmg =js—j O OU
J1 Je J3 _ Ji J2 J3 (6.131)
—J1 J1—J3 J3 Ji J3—J1 —J3



godoooooooood
‘7:3 ]'1' | J2 ] =¢ J:1 | J2 | ]'3. (6.132)
Js —J1 J1—J3 Ju J3—J1 —J3
000 Clebsch-Gordan DO OO OOOO
(—L)R 9049 (2] + 1) 72y, o, g1, —aldes o — i)
= (=142 + 1) 72 (o, s oy Gs — s ds) (6.133)

Clebsch-Gordan OO0 OO OO0OOOOOODO

e O e R ) e (6.134)
0oO
J1 J2 J3 = (—1)drtartis JuoJ2 s (6.135)
—my —MmMa —M3 My Mg M3

6.16 00035000000 [(3.4700]

D(3.47DDDD]6.105DDDDDDDDDDDDDDDDDDDDDDDDDDDDD
J0o00oogooogogme. 10000
Ji = J1t + Jox + Jax (6.136)
Jdodoooonoonogonogoogoog
1 J2 I3

jﬂ:zzz |a1,j1,m1>\a2,jg,m2>|a3,j3,M3>

mi1 m2 ms3 ml m2 m3

Yy Y i J2 s

mme ms A\ My My M3

x [+ 1) = mamn £ Dlas, i, mn = 1) az, o, ma)las, o, ms)

+\/j2(j2 + 1) — ma(ma £ )]s, ji, ma) |z, j2, ma £ 1)|az, jz, m3)

+\/j3(j3 + 1) — ma(mg = 1|, jr, ma)|as, j2, ma)|as, js, ms £ 1)
=0 (6.137)

0000000 |ay, ji, mi)|as, ja, me)|as, js,ms) 00 000000000000 3.470
0oooooo
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6.17 D006-j 0000000 [(3.8800]

71, G2, 12, man) = D> (g1, M, Ja, maljiz, mas)|dt, ma)| g2, ma)

mi1 m2

(1, J2)d12, Ja o m) = D> {Giz, maz, js, ms|j, m)|j1, J2, 12, maa)|js, ms)

mi2 m3

=3 Y37 iz, maa, g3, malg, m) (1, ma, g2, maljiz, maa)

mi2 m3 mip m2
X\jl,m1>]j2,m2)|j3,m3>
oogd

|J2: J3, Joz, mas) = D> (ja2, M2, J3, ms|jas, mas)|ja, ma)|js, ms)

m2 m3

1715 (J2, J3)Jes, 4, m ZZ (J1, M1, Joz, mas|j, m)|j1, m1)|j2, Js, Jo3, Ma3)

m1 ma23

=3 33N (i, ma, Jos, mas|j, m) (ja, ma, js, ms|jas, mos)

m1 mo3 M2 M3
x| j1, ma1)|j2, ma)|js, ms)

(6.139) 00O (6.141) 00000

<(j17j2)j12)j37j7 m|jl7 (j27j3)j237j7 m) - <j17 (j27j3)j237j7 m|<j17j2>j127j37j7

=3 3 33> (o, maz, Js, ms|g, m) (i, ma, J2, ma|ji2, maa)

M1 ma ms mig mas
X (J1, M1, Joz, Mas|J, m) (Ja, Ma, j3, M3 j2s, Ma3)
odododod mOUdoOOoOOoO mUooooog
(27 + 1)((1, J2)d12: 335 3, mdv, (G2, J3)dess 5, m)

= Z Z Z Z Z Z<j12> m12, J3, m3’j7 m) <.717 mi, Jo, m2‘j12, m12>

m mi ma m3 miz mas
X (J1, M1, Joz, Mas|f, m) (Ja, Ma, j3, M3|j23, Ma3)
000 Clebsch-Gordan OO0 3~y 00000000
(27 + 1)((j1, J2)dr2s J3, 3, mli1s (G2 J3) 23, 3, M)

_ Z (=1 )zdstm /T, 1 JizJ3 )

all m m12 m3 —mM
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x(_l)jl_j2+m12 2]'12 + 1 J1 J2 J12

my Mg —Mi2

X(_l)jl—jzs-i-m 2j + 1 JiJ2s J

my1 Moz —MM

) (—1)dstmas o Ty | T2 (6.144)

mo M3 —M23

D00 (25 + D[22+ 1)(2523 + 1)]V2 0000
(2512 + 1)(2523 + D] 72((1, J2)dr2, J3s 3, M1, (G2, G3)jazs 4, m)

_ Z (_1)j12*j3+m(_1)]’1*j2+m12 (_1)j1*j23+m(_1)j27j3+m23

all m

n
X
my —Mi2 my Moz —
J2
X
mo —ma3 mi2 —m

_ Z( 1)]12 Ja+m( 1 Ji—J2— m12 1 Ji st+m( 1)]2—j3+m23

all m

i J2 iz g g Jos
X (_1)11+J23+J
myp Mz Mi2 mi; —MmM Moy
X(_l)j2+j3+j23 J3 J2 J23 (_1)j12+j3+j J3 J J12
mg Mg —MMag —mg M M3

— (_1)j1+j2+j3+j Z (_1)j—m+j23—m23+j3—m3

all m

Ji J2 Ji2 Ji. 7 J23
X
myp Mo Mi2 mp —m Ma3
Js J2 Jo23 J3J  Ji2
X
mg Mg —MM23 —mg M Mi2
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_ (1)t jll jf ]'12 (6.145)
J3 7 J23
god

((J1,32) 912 J3 3> m|j1, (J2, J3)J2s, J, m)

jl j2 j12

= (= 1) HI[(255 + 1) (253 + 1)]/2 (6.146)
Js J  J23
DDD(3.69)DDDDDD
<(j1aj2)j127j3aj’m|(j2)j3)j237jl)j7m>
o _ 4 Ji J2 J
_ (_1)2J1+J2+J3+J23[(2]12 + 1)(2jjos + 1)]1/2 '1 2 .12 (6.147)
J3 J J23
6.18 0O0O0O6-p 0OOOoOn
jl j2 j3 — Z(_l)j4—m4+j5—m5+j6—m6 jl j2 j3
Ja Js Je all m my Mo Mg
o Wil J5 J6 Ja )2 J6 J4 Js J3 (6.148)
m; —MmMys Mg myg Mo —Mg —myg MMy N3

gobbbooobbbuoooobbbuoooobbodao
gobobooooboobogo

J2 g1 s — Z(_l)js—m5+j4—m4+j6—m6 J2 J1 J3

Js Ja Je all m my ™M1 Mg
" J2 Ja Js Js 1 Je J5  Ja  J3
mo —Myg Mg ms MMy —Mg —ms Mg M3

— Z (_1)j4—m4+j5—m5+j6—m6
all m —mi; —Mgy —M3

g U5 Je Ja o J2 s Ja JsJ3
—my —My Mg my —Mo —Mg —MmMy4 MMy —1MM3
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S (—1)fammatis—mstio—me JuJ2 3

my; Mg M3

all m
y Ju Js  Js Ja J2 Je Ja  J5  J3
my —MmMs Mg my Mz —Mg —my M5 M3
Ji J2 I3
(6.149)

Ja Js Je
oo bgobgotboo o b oo buoobuooo

gobbobooooboboboooooo
gobbboooboboboooobbobooooboboao

JaJs I3 — Z(_l)j17m1+j2fm2+j67m6 JaJs s
J1 J2 Js all m my M5 M3
y Ja o J2 Je 1 Js  Js v J2 3
my —Mo Mg miy My —Mg —my Mo M3
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= \JJ(J +1) = Ky(K; F D)V, ,51]5 Ks)m (6.231)
(251) 00000
)
I Vo, 5,18 Ks)m = J(J + D)W a1,,k,159 Ks)m (6.232)
jZ\I’J,MJ,KJ|S, Kg)m = NZ‘IJJ,MJ,KJ|5, Kg)m + SZ‘I’J,MJ,KJ|S, Kg)m
= ‘PJ:MJ:KJNZ|S7 Kg)m + |5, KS)mNZ‘I/J,MJ,KJ + \I’J,MLKJS’Z\S, Kg)m

. 82 B
=Vim, k,Nz 55+ 1 SR MsWg pe—xeg|S, Ms)
Mg

+|57 KS>mMJ\I’J,MJ,KJ
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v Sor)——— S (=) K5 Ms g\ |S M
+Wia, k07 25+1%( ) S—Mg—Ks|S, Ms)
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82 _ -
=V, K, 257“2(—1)KS Ms|S, MsYNzW s _nrg — 1
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+MyV g, i, 19 Ks)m

2 B N
VM, K, mZ(—l)KS MsWg are—ksSz|S, Ms)
Mg

872 B
i PAVINS mZ(—l)KS Ms|S, Mg)(—Ms)Vs _nrg— ks
Mg

+MyV g, i, 19 Ks)m

2 N
+V i, K, mZ(—l)KS MsWg ek Ms|S, Mg)
Mg

=MV, i, Ks)m

(Jx £iJy)¥ 0, 5,15, Ks)m
= (Nx £ iNV)Vsar, 1,19, Ks)m + (Sx £355)9 s ar, 10,15, Ko)m
= U, 5, (Nx £iNy)|S, Ks)m + |S, Ks)m(Nx £ iNy) ¥, k,

+U 01,5, (Sx £1Sy)|S, Ko)m

= W ar,.5,(Nx £iNy)

2 _
25 + 1 Z(_l)KS MS\I[S,—M&—Ks'S’ MS>
Mg

1S, K )/ T(J + 1) = My(My £ )Wy 0r a1,

. A 82 _
+U 0,5, (Sx £1Sy) S (=D MsWg nrexeo|S, Ms)
25+ 14
87T2 K _MS O e
=V n, K, Y 55+ 1(—1) STUS|S, Ms)(Nx £ iNy)Ws g, i

Mg

I+ 1) = My(My £ D)W 07,50, 1S, Ks)m

872 B . .
—|—\I’J,MJ,KJ 725 1 Z(—l)KS MS\IJS,_M&_KS(SX :tZSy)’S, MS>
Mg
872 Ks—M,
= Wt | e S(— 1)K M| S, M)
TN 2S + 14
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X\/S(S +1) — Msg(Ms F1)Vs _prgr1,—kq

I +1) = My(My £ D)W a1 16,1, Ko

872 B
+W i, K, 725+1Z(—1)KS MsWg _nrg -k
Mg

x\/S(S +1) — Ms(Ms + 1)|S, Mg + 1)

= I +1) = My(My £ D)W 0, 005,15, K (6.234)

6.33 O OOCase (a) 00000 Case (b) 0000000

0 (483) 00000 (498) 0000000
My Mg My Ms —M;

/ 82
25+12WSMSKS|S KS>

, 872(2J + 1 N S J
=N (—N M 2(S+1) 1S, Ks)m
Mn Ms Kg My Mg —M;

N S J
IN,Kn, S, J,My) = > 3 (—1)N > y/2) + 1 ( ) U N My K

(6.235)
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goooogoboogbo (3.64)DDDDD
|Na KN’S7 Ju MJ>

_ 8m2(2J +1 N 5 J
DD IR S, K}
My Ms Kg My Ms My
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-1 My+Ms—KNn— \/
% EJ;( ) 82
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X Vg My+ Mg, Ky +Ks

My Mg —My — Mg Ky Ky —Ky— Kg

_ 8m2(2J + 1 N S J
DD DAL S, K
My M, My Mg —M;
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_KS\/(2N +1)(28 +1)(2J' + 1)

2

N S J' N S J’
X Vo M Ky+ K
My Mg —M Ky Kg —Ky— Kg

= 3 S S ()N SEM ()M K [0 1 1) (2N 4 1)(20 + 1)

% Z(_l)M -K
!

Ks J M
N S J'

X \I/J’,M’,KN+K5‘S7KS>IH
Ky Ks —Ky— Kg

N S J N S J’
DI
My Mg \ My Mg —M; My Mg —M'

= 3 S ()N TSEM ()M K [0 7 1 1) (2N 4 1)(20 + 1)

Ks J' M’

N s B
X U ks Ss Ks)m(2J + 1) 70,500, 0
Ky Ks —Kyn—Kg

=Y (—)NESHENERS ON + 1 NS !
K KN KS —KN_KS

XV sary K+ Ks| S, Ks)m

N S J
= V2N + 1) > ()N -5tk U, i, Ks)m  (6.236)
K; Ks Ky Ks —K;

30000000 [343)0]0000

“IJJ,MJ,KJ|S7 KS>m

N S J
=33 V2N +1(-1)N 5K IN,Kx, S, J,M;)  (6.237)
N Ky Ky Ks —K;
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6.34 U0OUOOOOOOOO

A A~ A

A PPN Ny oA A N 1 N N ~
Jy =UNJxU = UTSxU + UINxU = S + < exp(ixSz) exp(ifSy) exp(ipSz)

X [— sin (bé + cos ¢ (8 — oS Gaﬂ exp(—iqﬁé’z) exp(—i@gy) exp(—ixgz)

00  sinf \ Oy 0¢
Lo an? ese (0o
_SX—i-Z,[ Sln¢89+sin9 (aX cosﬁa¢>]

—l sin ¢ exp(iySz) exp(i0Sy ) exp(idSy)
i

X (;99 exp(—i(bSZ) exp(—i@gy) exp(—ixgz)
1cos [0)

S d exp(ixSz) exp(i0Sy ) exp(ipSy)

X ;X exp(—ipSy) exp(—ifSy) exp(—ixSy)

1 cos @ cos 4 A 8
_z'sir19¢ exp(ixSz) exp(i0Sy ) exp(ipSy)

X ;:b exp(—ipSy) exp(—i0Sy) exp(—ixSy)

=" —l—l —sinqﬁﬁ + cos¢ (8 —cos@aﬂ
i

00  sind
+sin ¢ exp(ixﬁz) exp(z’@é’y) exp(igzﬁgz)
x exp(—iSz)Sy exp(—ifSy ) exp(—ixSz)

cos ¢

o0 exp(ixSz) exp(i0Sy ) exp(i¢Sz)

x exp(—ipSy;) exp(—iSy ) Sy exp(—ixSy)

*w exp(ixSz) exp(i0Sy ) exp(ipSy)

xSy exp(—ipSy) exp(—ifSy ) exp(—ixSz) (6.238)
620000000000

exp(—iS)Sy = (cos pSy — sin pSx ) exp(—ipSy) (6.239)

exp(—i0Sy)Sy = (cos 05y + sin 0Sx ) exp(—ifSy ) (6.240)
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exp(—iSz)Sx = (cos pSx + sin ¢Sy ) exp(—ipSy) (6.241)

gobooboogdn

5 & 1 0  coso o
JX—SX+Z_ Slngbae sm@( —cosf )]

+sin ¢ exp(iySz) exp(i0Sy ) exp(ipSy)
X (cos pSy — sin ¢Sy ) exp(—ipSy) exp(—ifSy ) exp(—ixSz)
osqb

sin 0

exp(ixSyz) exp(i0Sy ) exp(ipSy)

x exp(—i$Sz)(cos 05, + sin 0Sx ) exp(—ifSy ) exp(—ixSz)

cosfcos o -,

sin 6 z

| 0 coso 0 ) ) A
=Sy + = - —sin qb% —; ( — cos 6’)1 + sin ¢(cos PSSy — sin pSy)

_ cos 10}

ez exp(ixSz) exp(i0Sy ) exp(idSz)

x [cos 0S, + sin B(cos pSx + sin Sy )] exp(—ipSy) exp(i0Sy ) exp(—ixSz)

COS@COSQSS
Q. Pz

sin

A 1 A A
= S+ [- sin -0 4 50 ( - coseaﬂ + sin ¢(cos 65}, — sin )

(99 sinf \ Oy By
cos¢[ cos 95’ + sin (cos ¢S + sin ¢S/ ) + MS'
sin 6 e
_ 1 (9 COS ng 3
i [_ Sln(baé’ sin 6 <3X - 0%)] (6.242)

Ji, 0000
S’Z = exp(z'XS'Z) exp(i@gy) exp(i(bgz)gz exp(—i¢5'z) exp(—i@é’y) eXp(_ngZ)
— exp(ixSz) exp(ifSy) Sy exp(—ifSy) exp(—ixSy)
= exp(ixSy)(cos 05y — sin Sx) exp(—ixSz)
= cos0S, —sind exp(ixgz)gx eXP(—ngZ)
= cos 0S5, — sinf(cos ySx — sin xSy )
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= 3,5, + ®,,5% + 4,5y (6.243)
S = exp(ixSyz) exp(i0Sy) exp(ipSz)Sx exp(—ipSy) exp(—ifSy ) exp(—ixSz)
— exp(ixSz) exp(iBSy ) (cos pSx — sin ¢Sy ) exp(—ifSy ) exp(—ixSy)
= cos pexp(ixSyz) exp(i0Sy ) Sx exp(—ifSy ) exp(—ixSz)
—sin ¢ exp(ixSy) Sy exp(—ixSz)
= cos pexp(ixSz)(cos Sy + sin 0Sz) exp(—ixSz) — sin ¢(cos xSy + sin xSx)
= cos 0 cos ¢ exp(ixSz)Sx exp(—ixSy) + sin  cos pSy
— sin ¢(cos Sy + sin XSX)
= cos 0 cos ¢(cos xSy — sin xSy ) + sin 0 cos ¢S — sin ¢(cos xSy + sin xSx)
= xSy 4 Ox,Sx + Dx, Sy (6.244)
g{; = exp(ixgz) eXp(iQSy) exp(iqﬁgz)S’y exp(—igzﬁgz) exp(—ié’S’y) exp(—ixS’Z)
= exp(ixSz) exp(i6Sy ) (cos ¢Sy + sin ¢Sy ) exp(—i6Sy ) exp(—ixSz)
= cos ¢ eXp(iXSZ)SY eXp(_iXSZ)
+sin ¢ exp(ixSz) exp(i0Sy ) Sx exp(—ifSy ) exp(—ixSz)
= cos ¢(cos Sy + sin XSX) + sin ¢ exp(ixgz) (cos 05y + sin 95’2) exp(—ixé’z)
= cos ¢(cos xSy + sin ng) + cos 6 sin ¢ exp(ixé’z)gx exp(—ixgz)
+ sin 0 sin pSy
= cos ¢(cos ySy + sin XSX) + cos 6 sin ¢(cos vSx — sin XS'Y) + sin 0 sin ¢S
= ®y, S, + By, Sx + Py, Sy (6.245)

gobbe2000000000nbDDOO

exp(i@gy)gz exp(—i@gy) = c0os0S, — sin0Sx (6.246)

exp(i0Sy ) Sy exp(—ifSy) = cos Sy + sin 0S5 (6.247)

exp(z’xgz)gx exp(—ixﬁz) — cos xSy — sin xSy (6.248)

exp(ixSz)Sy exp(—ixSyz) = cos xSy + sin xSx (6.249)
goooooo
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6.35 U0OUOOOboodboodoodboognon

1 Q) = ZZ(ZQh1aQ2|1aQ>\I’2,q1,OS§;) (6250)

q1 Q2
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+(2,0,1,1|1, 1) Wy 005"
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1 {3
3272 |2

1 . .
—5(3@2& —1)(Sx +iSy) (6.252)

T(1,—1) = (2,0,1, = 1|1, =1) 005" + (2, —1,1,0[1, =1) W, _; xS

H(2,-2,1,1]1, = 1) Ty 5,5t

1[5 1.
= E 3272(3(1)222—1)\/;(5’)(—253/)

156




13 [ 15 .
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